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SN HREB2AD
HH: HACZREN(SSHLBY/AS)
Chel: HEZZ2E A X (29 da

SH-EH . C(BH) - NRAY - BES Off &k [ =)e bRz
AR E 2 Dt 2,917,714 2,734,941 182,773
= 1,000,000 1,000,000 0
2 1,917,714 1,734,941 182,773
HAEZEXS (23 UBR/HS) 1,909,938 1,726,301 183,637
BHAEZY ZEAY X2 601,257 501,257 100,000
IR S0HE RX 565,000 465,000 100,000
307 2I2H0IF 550,000 450,000 100,000
02 SItYABE 100,000 0 100,000
O RS ZRIIZTABAMR YRS
50,000,002 *13] 50,000 0 50,000
ONHBAHDSHIXRA  50,000,0008 13l 50,000 0 50,000
PO BRE 285 474,780 372,320 102,460
BHACZRNYSSE XAV X2 106,720 56,720 50,000
307 2I2H0IF 100,000 50,000 50,000
02 SI2tYA X 100,000 50,000 50,000
OEHAE BRI ZAFUEO0IERZ AT LA
oy 25,0002 %2,000% 50,000 0 50,000
BHAZDS 2x3 N 248,060 195,600 52,460
308 XX S SOIH 248,060 195,600 52,460
06 DEIIZOICHE 2T 248,060 195,600 52,460
OB DEATESAL LS Y =R
13,0002 +1, 700% 22,100 0 22,100
OB DEATH4S2ANE 460,008 <66 30,360 0 30,360
B E DR 32,901 103, 724 AT70,823
BHAZZE ZH42X 01X 21,281 %, 104 AT70,823
401 AIEHIL2CH] 21,281 %, 104 AT70,823
CEETT 21,281 %, 104 £70,823
OHAEZHEY 2K 5 £42 0 0 70,823 A70,823
HAZZ® 82 559,650 507,650 52,000
ERAEE 84X2Y 332,000 300,000 32,000
401 AIZHIL2CH] 332,000 300,000 32,000
01 Al 329,660 297,660 32,000
OHAEZHEUC MEHARN A
6,000,002 * 14! 6,000 0 6,000
Oua el BHAE Z82 AX
125,100, 00021 #14] 125,100 99, 100 26,000
BHACZY M2 29 227,650 207,650 20,000
201 L2 221,650 201,650 20,000
01 ALRZ2lt] 216,050 196,050 20,000




EHA ==&
AEZEIHE (B 2Z/HS)
HACZY ==
SA B HRA(SH) - MRAY - B 0l & o plEFL
OHZEEZS3AECI2EZ2 20,000,000 14! 20,000 0
HY2AZU (A =S (OIEHIIE 7,776 8,640
ZHl 7,776 8,640
AN Jl=ZHl 7,776 8,640
201 Let2d| 3,888 4,320
01 AtE22(H] 3,888 4,320
OJ|2RF&I(0ArEZ) 4,320,000 +0.9 3,888 4,320
202 O4Hl 3,888 4,320
01 =W 3,888 4,320

OJ2dRFXHI(0&E)
4,320,000& %0.9 3,888 4,320




